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QUESTION 1

Which statement describes how root protection protects your network? 

A. It dynamically modifies the STP bridge priority to the best value in your network. 

B. It ignores superior BPDUs from being accepted on a protected interface. 

C. It changes protected ports to the blocking state if they receive superior BPDUs. 

D. It is enabled on a switch and uses BPDUs to negotiate a better bridge priority than its neighbors. 

Correct Answer: C 

 

QUESTION 2

What is the minimum configuration necessary to create two VLANs and two operational RVIs? 

A. Option A 

B. Option B 
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C. Option C 

D. Option D 

Correct Answer: B 

 

QUESTION 3

Two routers have established a peering using EBGP over a single T1 link. 

How often will the routing table be synchronized between the two routers? 

A. every 30 minutes 

B. when an update message is received 

C. every 30 seconds 

D. when a notification message is received 

Correct Answer: B 

 

QUESTION 4

What does the OSPF LSA Type 3 summarize? 

A. the interfaces and neighbors of routers 

B. the router IDs of routers from other areas 

C. an Ethernet segment 

D. topology information from other areas 

Correct Answer: D 

 

QUESTION 5

You want to enable an Ethernet Link Aggregation Group (LAG) on an EX Series switch. Which commands enable this? 

A. [edit chassis] user@switch# set aggregated-devices ethernet device-count 1 [edit interfaces] user@switch# set ae1
aggregated-ether-options minimum-links 1 user@switch# set ae1 aggregated-ether-options link-speed 10g
user@switch# set ae1 unit 0 family inet address 192.168.1.0/24 user@switch# set xe-0/1/0 ether-options 802.3ad ae1
user@switch# set xe-1/1/0 ether-options 802.3ad ae1 

B. [edit chassis] user@switch# set chassis aggregated-devices ethernet device-count 2 [edit interfaces] user@switch#
set interface ae0 aggregated-ether-options minimum-links 1 user@switch# set interface ae0 aggregated-ether-options
link-speed 10g user@switch# set interface ae0 unit 0 family inet address 192.168.1.0/24 user@switch# set interface
xe-0/1/0 ether-options 802.3ad ae0 fast user@switch# set interface xe-1/1/0 ether-options 802.3ad ae0 fast 

C. [edit chassis] user@switch# set chassis aggregated-devices ethernet device-count 1 [edit interfaces] user@switch#
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set interface ae0 aggregated-ether-options minimum-links 1 user@switch# set interface ae0 aggregated-ether-options
link-speed 10g user@switch# set interface ae0 unit 0 family inet address 192.168.1.0/24 user@switch# set interface
xe-0/1/0 ether-options 802.3ad ae0 fast user@switch# set interface xe-1/1/0 ether-options 802.3ad ae0 fast 

D. [edit chassis] user@switch# set aggregated-devices ethernet device-count 2 [edit interfaces] user@switch# set ae1
aggregated-ether-options minimum-links 1 user@switch# set ae1 aggregated-ether-options link-speed 10g
user@switch# set ae1 unit 0 family inet address 192.168.1.0/24 user@switch# set xe-0/1/0 ether-options 802.3ad ae1
user@switch# set xe-1/1/0 ether-options 802.3ad ae1 

Correct Answer: D 
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